
1RX�ND�PHWH�LGH�Z�\R�DODYQL�QDQ�HWLG��
SODQLILNDV\RQ�WUDQVSz�DN�SODQ�SRX�JLGH�
DNV\RQ�NL�DS�PHQQHQ�QDQ�VROLV\RQ�VD�\R 

$-,�<21�)$621�(17(/,-$1�(3,�
6280Ê7� 

 ,'(�:�<2�328�$0(/<25(�
6,.,/$6<21�$1  

732� 0LDPL-'DGH� DNVq� HJDO� DN� RSzWLQLWH� HJDO� D� WUDYD\� DN�
VqYLV�� 0LDPL-'DGH� JHQ� NzP� SROLWLN� SRX� OL� UHVSHNWH� WRXW�
HJ]LMDQV� /ZD� VRX� $PHULNHQ� NL� *HQ� $QGLNDS� OD�� 3RX� MZHQQ�
GRNLPDQ�VD�D�QDQ�OzW�IzPD��WDQSUL�UHOH����-���-������ 

0LDPL-'DGH�732� 
6WHSKHQ�3��&ODUN�&HQWHU 

����1�:��)LUVW�6WUHHW��6XLWH���� 
0LDPL��)ORULGD������ 

���-���-���� 
SDXOFKDQFH#PGWSR�RUJ 

.RQVq\ 
 

3UH]LGDQ 
2OLYHU�*��*LOEHUW�,,, 

 
9LV�3UH]LGDQ� 

(VWHEDQ�/��%RYR��-U� 
  

0DQP 
-XDQ�&DUORV�%HUPXGH] 
3KLOLSSH�%LHQ-$LPH 
'DQLHOOD�/HYLQH�&DYD 
-RVH�³3HSH´�'LD] 

$XGUH\�0��(GPRQVRQ 
'DQ�*HOEHU 

3HUOD�7��+DQWPDQ 
&DUORV�+HUQDQGH]� 
6DOO\�$��+H\PDQ 
(LOHHQ�+LJJLQV 

%DUEDUD�-��-RUGDQ 
9LQFH�/DJR 

5REHUWR�0DUWHOO 
-RH�$��0DUWLQH] 
-HDQ�0RQHVWLPH�� 
'HQQLV�&��0RVV 

6WHSKHQ�5��6KHOOH\ 
5HEHFD�6RVD� 

6HQ��-DYLHU�'��6RXWR 
)UDQFLV�6XDUH]� 
;DYLHU�/��6XDUH] 

  
 

'LUHNWq�(J]HNLWLI 
$LOHHQ�%RXFOp��$,&3� 

0RELOqW�(OHWZRQLN�VRX�7UDQ]LW 

%LVLNOqW�3DWDMH 

9H\LNLO�RWRPDWL]H�1DYqW�VDQ�FKRIq 

2WR�SDWDMH�DN�HVWDV\RQ�SDWDMH 



3ODQ�7UDQVSz�3LEOLN�5DSLG�(VWUDWHMLN�QDQ�
=zQ� 0LDPL� DQ� �60$57�� SZRSR]H� VLV����
NRULGz�WUDQVSz�SLEOLN�UDSLG��DQVDQP�DYqN�
\RQ� UH]R� VqYLV� 7UDQVSz� 3LEOLN� 5DSLG� SD�
2WRELV� (NVSUqV� �%(57��� SRX� HJ]HNLWH�
SZRMq� WUDQVSz� DQ� NRPHQ� \R� QDQ� .RQWH�
0LDPL-'DGH�� .zP� \RQ� SDWL� QDQ� HIz� VD��
732� WD� UHQPHQ� WDQGH� LGH� Z� NRUH� 3ODQ�
60$57� OD� QDQ� GRPqQ�� DPHO\RUDV\RQ�
WUDQVSz� SLEOLN�� EHNjQ�� S\HWRQ��
NRQHNV\RQ�NL�YLQL�UDSLGPDQ�VRX�GHPDQQ�
SRX� DPHO\RUH� GHSODVPDQ� Z� ODQ�� YH\LNLO�
NL� NRQGXL� SRXNRQW� \R� DN� OzW� SZRMq� SRX�
DPHO\RUH� IDVLOLWH� GHSODVPDQ�� VHNLULWH� DN�
DNVq�QDQ�NRPLQRWH�QRX�DQ�� 
    
  
7DQSUL� UHSRQQ� NHV\RQ� VD� \R� NRQVqQDQ�
LGH� 60$57� RX� D� GLVL� ��� MDQY\H� ����� D�
�����30��0LDPL-'DGH�732�JHQ�GZD�UHOH�
Z�DN�RVZD�YR\H�LPqO�SRX�RX�SRX�Iq�VXLYL�
HSL�MZHQQ�SOLV�HQIzPDV\RQ�VRX�LGH�Z�ODQ�� 

0qVL�SRX�UHSRQV�RX�\R� 

 

 

 

 

3:2*5$0�.21(.7(�,'(�(17(/,-$1 

�� 7DQSUL��ED\�HQIzPDV\RQ�SRX�QRX�NRQWDNWH�Z�VL��
QRX�EH]ZHQ�SOLV�GHWD\�VRX�LGH�Z�OD� 

· 1RQ� 

· $GUqV�LPHO� 

· 1LPHZR�WHOHIzQ� 

�� 1RQ�LGH�Z�OD� 

BBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBB 

�� 'HNUL�LGH�Z�OD�QDQ�WZD�����IUD]�RVZD�PZHQV� 

BBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBB
BBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBB
BBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBB
BBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBB
BBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBB 

�� 7DQSUL� FKZD]L�\RQ�NDWHJRUL�NL�SL�E\HQ�GHNUL� LGH�Z�
ODQ�� 

� $PHO\RUDV\RQ�60$57�7UDQVLW��JHQ�ODGDQ�
DPHO\RUDV\RQ�VqYLV��HODMLVPDQ�DJUDQGLVPDQ�
VqYLV��QRXYR�SUL�DN�WHNQRORML�HQIzPDV\RQ� 

� $SOLNDV\RQ�DN�DPHO\RUDV\RQ�QRXYR�WHNQRORML�
VLNLODV\RQ��VD�YOH�GL�VL\DO�VLNLODV\RQ�HQWHOLMDQ��
NZRQRPHWUDM�VL\DO�VLNLODV\RQ� 

� 9H\LNLO�D�VLVWqP�NRQGZLW�RWRPDWL]H�VDQ�FKRIq� 

� .RQHNV\RQ�SRX�DPHO\RUH�GHSODVPDQ�SqVRQqO���
1RXYR�ZRXW�WUDQVLW��DJUDQGLVPDQ�
DPHO\RUDV\RQ�ZRXW�WUDQ]LW�NL�HJ]LVWH�GHMD��
DJUDQGLVPDQ�ORNDO�SRX�ELVLNOqW�DJUDQGLVPDQ�
DPHO\RUDV\RQ�WZRWZD��HPHO\RUDV\RQ-�SDUN�	�
ULGH� 

� (QSOLPDQWDV\RQ�ELVLNOqW��JHQ�ODQGDQ�ORNDO��
HVWDV\RQPDQ��SODV�ELVNOqW�SDWDMH��]zQ�UHSR�DN�
NqN�SODV�SRX�UHSDUDV\RQ�GHED]� 

� $PHO\RUDV\RQ�HVSDV�SRX�S\HWRQ 

� (QSOLPDQWDV\RQ�.DJR��JHQ�ODGDQ�NDP\RQ�NL�
PDFKH�VDQ�FKRIq��DNVq�D�DPHO\RUDV\RQ�Sz�DN�
D\HZRSz��� 

� 0RELOLWH�SDWDMH��OL�ND�JHQ�ODGDQ�PLNZR�WUDQ]LW��
OzW�PzG�WUDQVSz�LQRYDWq��SDWDM�YH\LNLO��FKDMH�
RWR�QDQ�PHQP�ORFDO��H�ODWUL\H� 

�� .LMDQ� Z� SDQVH� LGH� Z� OD� DS� HGH� DPHO\RUH�������
VLNLODV\RQ�DQ�QDQ�.RQWH�0LDPL-'DGH"�� 

BBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBB
BBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBB
BBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBB
BBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBB 

�� %D\�OzW�NzPDQWq�DGLV\RQqO�NRQVqQDQ�LGH�60$57�
RX�D�SL�ED�D����� 

BBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBB
BBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBB
BBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBB
BBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBB 

 

3RX� SOLV� HQIzPDV\RQ�� WDQSUL� NRQWDNWH� 3DXO� &KDQFH�
QDQ����������-�����RVZD�SDXO�FKDQFH#PGWSR�RUJ 

 
$35(�:�),1�5$13/,�621'$<�/$��%<(1�)Ê0(1�

%:2&+,�$��(3,�92<(�/�3$�/$3Ñ6��26:$�,0(/�<21�
,0$-�%$<�3$8/�&+$1&(�',6,� 

���-$19<(������ 

ZZZ�PLDPLGDGHWSR�RUJ 
 

#PLDPLGDGHWSR 
�0LDPL60$573ODQ 

 
3RX�DSUDQQ�SOLV��YL]LWH 

�ZZZ�PLDPLGDGHWSR�RUJ 


